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I.  (a) Define Income and analyse the statement “Any
receipt which partakes the nature of income is part

of the mcome.”

Comment in the light of case law. 10

[P. T. O.



3411

(&)

(a)

(b)

(2)
The assessee, Mr. X is a partner in a firm having
60% of share in profits and losses. He creates a
Trust, where beneficiaries arc 3 members of his
family. He also transfers 50% of his share in the
firm by way of Deed of Assignment in favour of
Trust out of love and affection. Mr. X claims 50%
of income transferred to the trust as Diversion of

Income. Decide with the help of cases. 10
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Define the term “Agricullure™.

Discuss whether the following incomes can be treated
as Agricultural Income for the purpose of Income Tax?

Give reasons.

(i)  Dividend paid by the company out of Agricultural

Income.

(iiy Income from sale of sisal fibre made after

processing aloe plants.

(iiiy Interest on arrears of rent in respect of Agricultural

Land.
(iv) Income from sale of forest trees. 20
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(@)

(b)

(a)

(4)
A company formed under Companies Act, creates
a superannuation fund for the benefit of its employees,
where the premium contribution from the employee
and company is %rd and  rd respectively. Under
& clause, the employee can claim to such fund only
after expiry of term of 15 years in the said company.
The Assessing Officer includes such contribution as
taxable under the head salaries for the employees.

Decide with the help of cases. 10

The assessee, Tea Company, derives its income from
sale of tea products. The Director of the company
had advanced amount ¥ 20,00,000 to his friend Mr. S,
who is a film producer @ 9% p.a. for an upcoming
film. Due to certain reasons movie is unsuccessfy]
and the amount advanced is irrecoverable from M.
S, the assessee company writes off the amount as
bad debts. Decide with the help »f cases whether

the assessee will be successful? 10
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Mr. Sebastian Vitiel, participates in Formulae | Race
at Budh Circuit. India and carns by way of
endorsenents and winnings X t1 crore. The Assessing
Officer charges his income under Income Tax Act.
1961 bu he claims he is not an assessee and neither

resident in India. Decide. 10
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(b)

(a}

(b)

(6)
The Assessee Company carrying on the business

in Ceylon, is a subsidiary company of ABC Ltd.,

_which 1s registered in Mumbai having its Registered

Office at Mumbai and meeting of Board of Directors
and shareholders are also held in Mumbai. The affairs
of assessee company are managed by the two
managers, with widest powers and authorities which
is conferred upon them by way of Power of Attorney.
Decide whether the Assessee Company is Resident

Company or not? 10
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How the annual value of House Property is determined?

Discuss ‘‘Deemed Owner” under Income from House

Property. Give relevant case laws. 20
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The assessee, Modi Sugar Mills Pvt. Lid. Co. is carrying
on with the business of sale of sugar and factory is situated
at Modinagar in U.P. The road was to be constructed
to connect Modinagar with Meerut. Under the development
scheme promoted by Government of U.P.,, Central
Government. State Government and Sugar Factories were
to bear the cost of construction of the road. The Assessee
Company contributed ¥ 1,00.000 on request of the Collector.
The Assessing Officer considers the amount as Capital
Expenditure. Decide and Illustrate with case decisions
difference between Capital Expenditure and Revenue

Expenditure. 20
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(a)

(b)

The Assessee is a shareholder in a company.
The company goes inte liquidation and on account
of settlement between the company and share-
hoiders, the company transfers agricultural land
as part of full and final settlement between them.
The assessee claims exemption from tax on
agricultural which are entitled to be excluded
while computing the Capital Gains on assets
received from company on liguidation. Decide with

the help of cases. 10

Discuss the law laid down in CLT. ¥%. Rajendra

Prasad Moody (1978). 115 ITR 519 (SC). 10
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The assessee, Mr. K makes a certain cash gifts to his
wife Mrs. M. She invests the part of the amount in shares
and part in other securities which during a financial year
yielded returns in form of dividends and interests. The
Assessing Officer includes such dividends and interests

in the assessment of Mr. K to which Mr. K objects.

Decide n the light of provisions relating to aggregation
of incane along with relevant cases. 20
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